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7 A7 7 v FBALER |2.30 X 0.60 x0.05 |1.00 X 1.40 X005 [6.00 X 0.60 % 0.05 [5.10 X 0.60 %005 [1.00 X .40 X 0.05 [2.00 X 0.60 X 0.05
44T DIDIXHIAE) L=19. OknBl F =0.07 =0.07 =018 =0.15 =0.07 =0.06 | 0.60 | 0.60 1.00 [m3
E Y L
AtDT (DIDIX =19. OkmLh m3
s ) — R () AL
AtDT (DIDIX ] 4E) L=19. OkmbA F m3
BER LER 0.07 X 2.35 0.07 % 2.35 0.18 X 2.35 0.15 % 2.35 0.07 X 2.35 0.06 % 2.35
As =0.16 =016 =0.42 =0.35 =0.16 =014 | 1.39 1,39 1.00 [t
BEMILER
Co_(fHEf) 3
BEMILER
Co (£7fh) 3
FEH  15cm m
FEH 30cm m
BRI T TiAZ: - GlHx 1.00 % 1.00 1,00 % 1,00
I EH=2. Om = 1.00 = 1.00 2.00 | 2,00 2.00 | m
SR (R B4 ) 1.00 % 1,00 1.00 % 1,00
A=, On, K - G : 18 = 1.00 = 1.00 2.00 | 2,00 2.00 | m




TR - B

+ T £

i
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1. BLiEAsiE

2. WaEAsIE

3. FhiiAsiE

4. FiEAsIE

5. FFifiAsiE

6. FFiEAsIH

HPPE ¢ 100 HPPE ¢ 100 HPPE ¢ 100 HPPE ¢ 100 HPPE ¢ 100 HPPE ¢ 100 B
AAEIR DP=1200 DP=1200 DP=1200 DP=900 DP=1200 DP=1200 /N it Hoh: i
EI IR BEW=1200 IR IEW=2000 P IEW=1200 JEHIBEN=1200 IR EW=2000 FEHIIET=1200 -
L= 2.3 m L= 1.0 m L= 6.0 m L= 5.1 m L= 1.0 m L= 2.0 m
L W H L W I L W H L W I L W H L W I
SHZERRIEr L 2.30 X 2.00 1.00 % 2.00 6.00 X 2.00 5.10 X 2.00 1.00 X 2.00 2.00 % 2.00
As _t=15cmPL T = 4.60 =2.00 = 12.00 = 10.20 =2.00 =4.00 [34.80 |34.80 35.00 | m
SRR B L
Co t=15cmA T m
SHERE BRI - BHA 2,30 % 1.20 1.00 % 2.00 6.00 X 1.20 510 X 1.20 1.00 % 2.00 2.00 % 1.20
0. 28BH As+Co_t=10cmih F =2.76 =2.00 =7.20 =6.12 =2.00 = 2.40 [22.48 |22.48 22.00 [ m2
Ny 7R U HEHIEGA
0. 28BH m3
FEAR IR 1
0.28BH Ji HAY m3
FEAR IR 1
0.28BH [ m3
FEAR IR 1
0.28BH ¥4+ m3
NEESEEN
ARC—40 (CIRA) t=12cm n2
DNEESEEN
RC-40 t=12cm m2
DEESEEN
RC-40 t=15cm m2
LA L
M-25 t=10cm m2
LR T
M-40 t=12cm m2
RPEHETE T (W=1. 8moAHi) [2.30 X 1.20 6.00 X 1.20 5.10 X% 1.20 2.00 X 1.20
Hili FebA 4 L =2.76 =17.20 =6.12 =9.40 |18.48 [18.48 18.00 | m2
RPEHETE T (W=1. 8mLA ) 1.00 X 2.00 1.00 X 2.00
Al Fe A 4 L =2.00 =2.00 4.00 | 4. 00 1,00 | m2
%R L () - HE)
OB AS (20) t=5cm n2
Fehg LONJy-H08) [2.30 % 1.20 1.00 % 2.00 6.00 X 1.20 510 X 1.20 1.00 X 2.00
kLA (BF20FH)_t=5cm, PK-3 =2.76 =2.00 =17.20 =6.12 =2.00 20. 08 [20.08 20.00 [ m2
FJE L (ANJ)- #E) 2.00 % 1.20
(@D kA (B207H) ST 18 t=5cm, PK=3 =2.40 | 2.40 2. 40 2.00 | m2
@27 Y — b L (EEY)
18-8-40 t=10cm m3
H b (55 H HidR)
£=10mm m2
A T ALER
AtDT (DIDIX [ 4E) L=10. OkmEA F m3
5% 5 AHTO0ER
/N 7 75 170. 80BH m3
7 A7 7 v NIALEE [2.30 X 1.20 X 0.05 [1.00 % 2.00 X 0.05 [6.00 X 1.20 X0.05 [5.10 % 1.20 X0.05 [1.00 X 2.00 X0.05 [2.00 X 1.20 X 0,05
44T DIDIXHIAE) L=19. OknBl F =0.14 =0.10 =0.36 =0.31 =0.10 =012 | 1.13 | 1.13 1.00 [ m3
a7 Y — b () ALE
AtDT (DIDIX =19. OkmLh m3
a7 Y — M) AR
AtDT (DIDIX ] 4E) L=19. OkmbA F m3
BER LER 0.14 X 2.35 0.10 % 2.35 0.36 X 2.35 0.31 % 2.35 0.10 X 2.35 0.12 % 2.35
As =0.33 =0.24 =0.85 =0.73 =0.24 =0.28 | 2.67 | 2.67 3.00 [ ¢
BEMILER
Co_(fHEf) 3
BEMILER
Co (£7fh) 3
FEH  15cm m
FEH 30cm m
BRI T TiAZ: - GlHx
JEHRH=2. Om m
SR (R B4 )
A=, On, K - G : 18 m




BERH + T 4
7. WaBAsH 8. FFiEAsIHE 9. FiEAsIE
VLGP ¢ 75 HIVP ¢ 75 VLGP ¢ 75 B
IR DP=1200 DP=900 DP=1200 ANER | EE Kt i
4 B HRIET=600 HHIRT=600 =600 .
L= 13.2 m L= 0.5 m L= 8.3 m
L W I L W | L W I L 1 I 1
SHZERRIEr L 13.20 % 2.00 0.50 % 2.00 8.30 X 2.00
As _t=15cmPL T = 26.40 =1.00 = 16.60 44.00_|44. 00 44.00 [ m
SRR B L
Co t=15cmA T m
SHE R R H] - BHA 13,20 % 0. 60 0.50 % 0,60 30 % 0.60
0. 28BH As-Co_t=10cmll T =7.92 =030 =198 13.20 |13.20 13.00 | m2
Ny 7 A U IRHIRDA |13.20 X 0.60 X 1.34 [0.50 X 0.60 X 104 [8.30 X 0.60 X 1.34
0. 28BH = 1061 =0.31 =6.67 17.59 |17.59 18.00 | m3
FEAR IR 1
0.28BH Ji HAY m3
FEME R T 1320 X 0.60 X 1.10 [0.50 X 0.60 X 0.79 [8.30 % 0.60 X I.09
0.28BH _|Lif} =8.71 0.24 =5.43 14.38 | 14.38 14.00 | m3
FEAR IR 1
0.28BH J&A:+ m3
TR A L 13.20 % 0.60
ARC-40 (CIEA) t=12cm =7.92 7.92 | 7.92 8.00 | m2
DNEESEEN
RC-40 t=12cm m2
T A L 0.50 % 0,60 30 % 0.60
RC-40 _t=15cm =030 =498 5.28 | 5.28 5.00 | m2
L 0.50 % 0.60 30 % 0.60
M-25 t=10cm =0.30 =498 5.28 | 5.28 5.00 | m2
T 13.20 X 0. 60
M-40 _t=12cm =7.92 7.92 77,92 8.00 | m2
RPEHETE T (W=1. 8mAi)
Hili FebA 4 L m2
RPEHETE T (W=1. 8mLA )
Al Fe A 4 L m2
{Fee (N J7- #0i8) | 13,20 % 0.60 0.50 % 0,60 30 % 0.60
@HLBLEAs (20) t=5cm =7.92 =0.30 =4.98 13.20 |13.20 13.00 | m2
FJE LA\ J)- #E)
©FKLEAS (B 20FH) _t=5cm, PK-3) m2
FJE L (ANJ)- #E)
(@D kA (B207H) ST 18 t=5cm, PK=3 m2
@27 Y — b L (EEY)
18-8-40 t=10cm m3
H b (V5 H Hikk)
£=10mm m2
A
A4DT (DIDIHIHE) L=10. Oknbl F = 1061 =0.31 =6.67 17.59 |17.59 18.00 | m3
5% b5 AHE T o LpE
/3y 7 75 970, 80BH = 10.61 =0.31 =6.67 17.59 |17.59 18.00 | m3
T A7 7 v NIUALEE [13.20 % 0.60 X 0.05 [0.50 % 0.60 x0.05 [8.30 % 0.60 X 0.05
A4DT (DIDIHIHE) L=19. Oknbl F =0.40 =0.02 =0.25 0.67 | 0.67 1.00 [m3
a7 U — b CHE) AL
AtDT (DIDIX =19. OkmLh m3
a2 U — ML) AL
AtDT (DIDIX ] 4E) L=19. OkmbA F m3
BER LB 0.40 X 2.35 002 % 2.35 0.25 X 2.35
As =0.94 =0.05 =0.59 1.58 [ 1,58 2.00 |t
BEMILER
Co_(fHEf) 3
BEMILER
Co (£7fh) 3
FEH  15cm m
FEH 30cm m
W BRI TiAd » Sl
HEHIZEH=2. Om m
SR (R B4 )
SAE-2. On, O - O : 18 m




B + T % i K
7. WaBAsH 8. FFiEAsIHE 9. FiEAsIE
VLGP ¢ 75 HIVP ¢ 75 VLGP ¢ 75 B
ENCIE DP=1200 DP=900 DP=1200 ANER | EE Kot i
EI IR BEW=1200 IR IEW=1200 IR BEW=1200 -
L= 13.2 m L= 0.5 m L= 8.3 m
L W I L W | L W I L W | L I 1
SHZERRIEr L 13.20 % 2.00 0.50 % 2.00 8.30 X 2.00
As _t=15cmPL T = 26.40 =1.00 = 16.60 44.00_|44. 00 44.00 [ m
SRR B L
Co t=15cmA T m
SHE RN - BHA (13,20 X 1. 20 0.50 % 1.20 8.30 % 1.20
0. 28BH As-Co_t=10cmll T = 15,81 =0.60 =9.96 26.40 | 26. 40 26.00 | m2
Ny 7R U HEHIEGA
0. 28BH m3
FEAR IR 1
0.28BH Ji HAY m3
FEAR IR 1
0.28BH LI} m3
FEAR IR 1
0.28BH J&A:+ m3
NEESEEN
ARC—40 (CIRA) t=12cm m2
DNEESEEN
RC-40 t=12cm m2
DEESEEN
RC-40 _t=15cm m2
LA L
M-25 t=10cm m2
LR T
M-40 _t=12cm m2
REPEHETE T (W=1. 8moAii) [ 13.20 X 1.20 0.50 X 1.20 8.30 X 1.20
HliFEAS e L = 15,81 =0.60 =9.96 26.40_|26. 40 26.00 | m2
RPEHETE T (W=1. 8mLA )
Al Fe A 4 L m2
%R L () - HE)
OB AS (20) t=5cm -
Fehg LONJ-H08) [13.20 % 1.20 0.50 % 1,20 8.30 X 1.20
kLA (BF20FH)_t=5cm, PK-3 = 15,81 =0.60 =9.96 26.40 | 26. 40 26.00 | m2
FJE L (ANJ)- #E)
DI AS (B20F 5ca, PK-3 m2
@y Y — b LGS Y)
18-8-40 t=10cm m3
H b (V5 H Hikk)
£=10mm m2
A T ALER
AtDT (DIDIX [ 4E) L=10. OkmEA F m3
5% 5 AHTO0ER
/N 7 75 v 0. 80BH m3
T A7 7 b FRRLEE [13.20 X 1.20 X 0.05 [0.50 X 1.20 % 0.05 [8.30 X 1.20 X0.05
44T DIDIXHIAE) L=19. OknBl F =0.79 =0.03 =0.50 132138 1.00 [m3
E Y L
AtDT (DIDIX ] 4E) L=19. OkmbA F m3
s ) — R () AL
AtDT (DIDIX ] 4E) L=19. OkmbA F m3
BER LB 0.79 % 2.35 0.03 % 2.35 0.50 X 2.35
As =186 =007 =118 311 | 311 3.00 |t
BEMILER
Co_(fHEf) 3
BEMILER
Co (£7fh) 3
FEH  15cm m
FEH 30cm m
BRI T TiAZ: - GlHx
JEHRH=2. Om m
SR (R B4 )
=2. Om, FE S - G : 1E%] m
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10. I EASIE

11. FFiEAsTE

12. FIEAsIE

13. FFiEAsIE

14. FEEHEE

SUS ¢ 100 SUS ¢ 100 SUS ¢ 100 SUS ¢ 100 SUS ¢ 100 B
IR IR DP=900 DP=300 DP=1200 DP=300 DP=300 iR G it i
EI HEHIIEW=600 ) BEW=600 JEHIEN=600 ) BEW=600 HEHIIEW=600 -
L= 1.0 m L= 6.5 m L= 1.0 m L= 1.5 m L= 3.0 m
L W I W | L W I L W | L W I 1
SHZERRIEr L 1.00 % 2.00 6.50 % 2.00 00X 2.00 1.50 % 2.00
As _t=15cmPL T =2.00 = 13.00 =2.00 =3.00 20.00_[20. 00 20.00 [ m
SRR B L
Co t=15cmA T m
SHE R BRI - BHA 1,00 % 0. 60 6.50 % 0.60 00 % 0.60 1.50 % 0.60
0. 28BH As-Co_t=10cmll T =0.60 3. 90 =0.60 0.90 6.00 | 6.00 6.00 | m2
Xy 7 AR URAIEDA [1.00 X 0.60 X 1.07 [6.50 % 0.60 x0.37 [1.00 % 0.60 X 1.37 [1.50 % 0.60 X 0.37 [3.00 % 0.60 X0.42
0. 28BH =0.64 1.44 =0.82 0.33 =0.76 3.99 173,99 4,00 | m3
FEAR IR 1
0.28BH Ji HAY m3
FEME R T 1.00 X 0.60 x0.82 [6.50 X 0.60 X0.12 |1.00 X 0.60 X 1.15 [1.50 X 0.60 X 0.15
0. 28BH _|LIfY 0.49 0.47 =0.69 0.14 1.79 | 1.79 2.00 [ m3
PR LA 1 3.00 X 0.60 X042
0.28BH FE/AE 1 =0.76 0.76 [ 0.76 1.00 [ m3
NEESEEN
ARC—40 (CIRA) t=12cm m2
T AR L 00 0.60 1.50 % 0.60
RC-40 t=12cm =0.60 =0.90 1.50 [ 1,50 2.00 | m2
T A L 1.00 % 0.60 6.50 % 0.60
RC-40 _t=15cm =0.60 ='3.90 4.50 | 4.50 5.00 | m2
b A 1.00 X 0.60 6.50 % 0,60 00 X 0. 60 1.50 % 0.60
M-25 t=10cm =0.60 ='3.90 =0.60 =0.90 6.00 | 6.00 6.00 | m2
LR T
M-40 _t=12cm m2
RPEHETE T (W=1. 8mAi)
Hili FebA 4 L m2
RPEHETE T (W=1. 8mLA )
Al Fe A 4 L m2
R Fee (N Jy- #iE) | 1,00 0.60 6.50 % 0,60 00 X 0. 60 1.50 % 0.60
@HLBLEAs (20) t=5cm = 0.60 =3.90 = 0.60 =0.90 6.00 | 6.00 6.00 | m2
FJE LA\ J)- #E)
©FKLEAS (B 20FH) _t=5cm, PK-3) m2
FJE L (ANJ)- #E)
(@D kA (B207H) ST 18 t=5cm, PK=3 m2
@27 Y — b L (EEY)
18-8-40 t=10cm m3
H b (V5 H Hikk)
£=10mm m2
A T ALER
A4DT (DIDIXHIAE) L=10. OknBl F =0.64 =144 =0.82 =0.33 3.23 3,23 3.00 |m3
5% 5 AHTO0ER
2Ny 7 73 70. 80BH =0.64 =144 =10.82 =0.33 3.23 | 3.23 3.00 [m3
7 A7 70 FBRALER |1.00 X 0.60 x0.05 [6.50 X 0.60 X 0.05 |1.00 X 0.60 X 0.05 [I.50 X 0.60 X 0.05
44T DIDIXHIAE) L=19. OknBl F =0.03 =020 =0.03 =0.05 0.31 ] 70.31 0.30 | m3
E Y L
AtDT (DIDIX =19. OkmLh m3
s ) — R () AL
AtDT (DIDIX ] 4E) L=19. OkmbA F m3
BER LB 0.03 % 2.35 0.20 % 2.35 0.03 X 2.35 0.05 % 2.35
As =0.07 =047 =0.07 =0.12 0.73]70.73 1.00 [t
BEMILER
Co_(fHEf) 3
BEMILER
Co (£7fh) 3
FEH  15cm m
FEH 30cm m
BRI T TiAZ: - GlHx
JEHRH=2. Om m
SR (R B4 )
A=, On, K - G : 18 m




AR () + T £ i *
10. FiEAsIE L1 AHiEAsTE 12. FiEAsIE 13. FiidAsiE 14. FEEREE
SUS ¢ 100 SUS ¢ 100 SUS ¢ 100 SUS ¢ 100 SUS ¢ 100 B
IR IR DP=900 DP=300 DP=1200 DP=300 DP=300 iR G i i
EI HEHIIEW=600 ) BEW=600 JRHIHEW=600 ) BEW=600 EHIIEW=600 -
L= 1.0 m L= 6.5 m L= 1.0 m L= 1.5 m L= 3.0 m
L W I L W | L W I L W | L W I 1
SRR B L
As  t=15cmPA T m
SRR B L
Co t=15cmA T m
SHE R BRI - BHA 1,00 % 0. 60 6.50 % 0.60 00 % 0.60 1.50 % 0.60
0. 28BH As-Co_t=10cmll T =0.60 3.90 =0.60 0.90 6.00 | 6.00 6.00 | m2
Xy 7 AR URAIEDA [1.00 X 0.60 X 1.07 [6.50 % 0.60 x0.37 [1.00 % 0.60 X 1.37 [1.50 % 0.60 X 0.37 [3.00 % 0.60 X0.42
0. 28BH =0.64 1.44 =0.82 0.33 =0.76 3.99 173,99 4,00 | m3
FEAR IR 1
0.28BH Ji HAY m3
BRI 1 1.00 X 0.60 x0.82 [6.50 X 0.60 X0.12 |1.00 X 0.60 X 1.15 [1.50 X 0.60 X 0.15
0. 28BH _|LIfY 0.49 0.47 =0.69 0.14 1.79 | 1.79 2.00 [ m3
PR LA 1 3.00 X 0.60 X042
0.28BH FE/AE 1 =0.76 0.76 [ 0.76 1.00 [ m3
NEESEEN
ARC—40 (CIRA) t=12cm m2
T AR L 00 0.60 1.50 % 0.60
RC-40 t=12cm =0.60 =0.90 1.50 [ 1,50 2.00 | m2
T A L 1.00 % 0.60 6.50 % 0.60
RC-40 _t=15cm =0.60 ='3.90 4.50 | 4.50 5.00 | m2
b A 1.00 X 0.60 6.50 % 0,60 00 X 0. 60 1.50 % 0.60
M-25 t=10cm =0.60 ='3.90 =0.60 =0.90 6.00 | 6.00 6.00 | m2
LR T
M-40 _t=12cm m2
RPEHETE T (W=1. 8mAi)
Hili FebA 4 L m2
RPEHETE T (W=1. 8mLA )
Al Fe A 4 L m2
R Fee (N Jy- #iE) | 1,00 0.60 6.50 % 0.60 00 0.60 1.50 % 0.60
@HLBLEAs (20) t=5cm = 0.60 =3.90 = 0.60 =0.90 6.00 | 6.00 6.00 | m2
FJE LA\ J)- #E)
©FKLEAS (B 20FH) _t=5cm, PK-3) m2
FJE L (ANJ)- #E)
(@D kA (B207H) ST 18 t=5cm, PK=3 m2
@27 Y — b L (EEY)
18-8-40 t=10cm m3
H b (V5 H Hikk)
£=10mm m2
A
A4DT (DIDIXHIAE) L=10. OknBl F =0.64 =144 =0.82 =0.33 3.23 3,23 3.00 |m3
5% b5 AHE T o LpE
2Ny 7 73 70. 80BH =0.64 =144 =10.82 =0.33 3.23 | 3.23 3.00 [m3
7 A7 70 FBRALER |1.00 X 0.60 x0.05 [6.50 X 0.60 X 0.05 |1.00 X 0.60 X 0.05 [I.50 X 0.60 X 0.05
44T DIDIXHIAE) L=19. OknBl F =0.03 =020 =0.03 =0.05 0.31 ] 70.31 0.30 | m3
E Y L
AtDT (DIDIX =19. OkmLh m3
s ) — R () AL
AtDT (DIDIX ] 4E) L=19. OkmbA F m3
BER LB 0.03 % 2.35 0.20 % 2.35 0.03 X 2.35 0.05 % 2.35
As =0.07 =047 =0.07 =0.12 0.73]70.73 1.00 [t
BEMILER
Co_(fHEf) 3
BEMILER
Co (£7fh) 3
FEH  15cm m
FEH 30cm m
BRI T TiAZ: - GlHx
HEHIZEH=2. Om m
SR (R B4 )
A=, On, K - G : 18 m




e + T % i &
10. FiEAsIE L1 AHiEAsTE 12. FiEAsIE 13, AHiEAsTE 14. FEEREE
SUS ¢ 100 SUS ¢ 100 SUS ¢ 100 SUS ¢ 100 SUS ¢ 100 B
ENCIE DP=900 DP=300 DP=1200 DP=300 DP=300 iR G i i
N IR EW=1200 14 IR IEN=1200 IR EW=1200 1 IR IEW=1200 .
L= 1.0 m = 6.5 m L= 1.0 m = 1.5 m L= 3.0 m L=
L W I L W | L W I L W 1 W I 1
SHZERRIEr L 1.00 % 2.00 6.50 % 2.00 1.00 X 2.00 1.50 % 2.00
As _t=15cmPL T =2.00 = 13.00 =2.00 =3.00 20.00_[20. 00 20.00 [ m
SRR B L
Co t=15cmA T m
SHERE BRI - BHA 1,00 X 1.20 6.50 % 1.20 1.00 % 1.20 1.50 % 1.20
0. 28BH As-Co_t=10cmll T =1.20 = 7.80 =1.20 = 1.80 12,00 |12.00 12.00 | m2
Ny 7R U HEHIEGA
0. 28BH m3
FEAR IR 1
0.28BH Ji HAY m3
FEAR IR 1
0.28BH LI} m3
FEAR IR 1
0.28BH J&A:+ m3
NEESEEN
ARC—40 (CIRA) t=12cm m2
DNEESEEN
RC-40 t=12cm m2
DEESEEN
RC-40 _t=15cm m2
LA L
M-25 t=10cm m2
LR T
M-40 _t=12cm m2
RPEHETE T (W=1. 8moAHi) [1. 00 X 1.20 6.50 X 1.20 1.00 X 1.20 1.50 X 1.20
HliFEAS e L =1.20 = 7.80 =1.20 = 1.80 12,00 |12. 00 12.00 | m2
RPEHETE T (W=1. 8mLA )
Al Fe A 4 L m2
%R L () - HE)
OB AS (20) t=5cm -
Fehg LONJ-H08) [1.00 % 1.20 6.50 % 1,20
©FKLEAS (B 20FH) _t=5cm, PK-3) =1.20 =7.80 9.00 [ 9.00 9.00 [m2
FJE L (ANJ)- #E) 1.00 X 1,20 1.50 % 1.20
D (o0 e P =1.20 =1.80 3.00 | 3,00 3.00 | m2
@y Y — b LGS Y)
18-8-40 t=10cm m3
H b (V5 H Hikk)
£=10mm m2
A T ALER
AtDT (DIDIX [ 4E) L=10. OkmEA F m3
5% 5 AHTO0ER
/N 7 75 v 0. 80BH m3
7 A7 70 FBRALER |1.00 X 1,20 x0.05 [6.50 X 1.20 X005 |1.00 X 1.20 X 0.05 [1.50 X 1.20 X 0.05
44T DIDIXHIAE) L=19. OknBl F =0.06 =0.39 =0.06 =0.09 0.60 | 0.60 1.00 [m3
E Y L
AtDT (DIDIX ] 4E) L=19. OkmbA F m3
s ) — R () AL
AtDT (DIDIX ] 4E) L=19. OkmbA F m3
BER LB 0.06 % 2.35 0.39 % 2.35 0.06 X 2.35 0.09 % 2.35
As =0.14 =0.92 =0.14 =0.21 Tt [ ran 1.00 [t
BEMILER
Co_(fHEf) 3
BEMILER
Co (£7fh) 3
FEH  15cm m
FEH 30cm m
BRI T TiAZ: - GlHx
JEHRH=2. Om m

SR L (R RS )

=2. Om, fECKS - G : 1BY




